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Addition Word Problems to Solve the Rectangle
Shaped boxes

Put the total number in the rectangle-shaped boxes after adding two random numbers.

1. Robert has 5 apples, and Oliver gives her 3 more
apples. How many apples does Robert have now?

5 3

2. There are 7 birds sitting on a tree. 2 more birds join
them. How many birds are there in total?

3. Nigam has 4 toy cars, and jonson gives him 6 more oy
cars. How many toy cars does Nigam have now?

4. Jesmine has 8 markers, and she buys 5 more markers

from the store. How many markers does Jesmine have
now?
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